THE PARADOX OF ANALYSIS

(ON THE POSSIBILITY OF AN INFORMATIVE ANALYSIS OF CONCEPTS)
1. INTRODUCTION: WHAT IS THE PARADOX OF ANALYSIS?

We have been trying to analyze some concepts by asking questions in the form of ‘What is X?’. This question has being asked in different areas of philosophy. We ask ‘What is virtue?’, ‘What is justice?’, ‘What is knowledge?’, ‘What is good?’, etc. And we have been seeking for the answers of these questions. The answers give us the analysis of the concepts, which are being investigated.

In order to present the paradox clearly, let us symbolize an anlysis statement as the following:

‘X is Y’

(X is the concept we are trying to analyze and Y is the analysis we are suggesting of it.) 

We have two demands from an analysis (Conditions of a good analysis):

1. An analysis must preserve the meaning of the concept which we are analyzing (which means that X and Y must have the sama meaning)

2. An analysis must be informative (Y must give us an information which is not contained in X)

In other words, we suppose that a good analysis should preserve the meaning and give us information. This is the rising point of the paradox of analysis. The problem is that: If a true analysis has the same meaning with the concept it analyzes, how could it be informative? In other words, If Y has exactly the same meaning with X, how could it give us a new information which is not captured by X?

Looking at the examples in which paradox arises will be helpful for us to understand it better. Let us try to analyze the concept of ‘triangle’.

(1) A triangle is a geometrical entity, which has three sides and corners.

           X




Y

If both A and B have the same meaning, we can substitute X with Y and we arrive at the following sentence:

(2) A triangle is a triangle
    X 

X

If X and Y have the same meaning, then (1) and (2) is supposed to have the same meaning. But while (1) seems to give us information, it is obvious that (2) does not. If they have the same meaning how could (1) contain a knowledge which (2) does not?

Let us see the original example, which is given by the philosophers who deal with the paradox.

(1) To be brother is to be a male sibling.

Presupposing ‘to be brother’ has the same meaning with ‘to be a a male sibling’, we can substitute one with the other just as we did in the previous example and arrive at: 

(2) To be a brother is to be a brother

But, it is obvious that proposition (2) does not have any informative content whereas (1) has. So, again the paradox meets us.

2. SUGGESTED SOLUTIONS:

In this part of my paper, I will present a possible solution, which was suggested by Black. He claims that analysis is a relation between more than two concepts. He considers the numerical equation ‘21=7x3’. If ‘21’ and ‘7x3’ were identical in terms of their senses, then ‘21=7x3’ would exactly have the same meaning with ‘21=21’(if we apply the rule of substitution as we explained before). But ‘21=21’ does not again give us any information whereas ‘21=7x3’seems to. From this example he concludes that analysis cannot be explained with synonymy between concepts. His suggestion is that there are three referents of this statement, which are ‘21’, ‘7’ and ‘3’. These three concepts are in a relation  with each other in a way that the first one is the product of the remaining two. He gives the name ‘A’ to this relation and symbolizes it as:

A (21,3,7)

Similarly, ‘being a brother is to be a male sibling’ refers to three concepts. And it can be symbolized as: 

B (b,m,s)

(b designates ‘being a brother’, m ‘being a male sibling’, and s ‘being a sibling’.)

But he does not say anything about the nature of the relation. It seems that different relations hold in these two examples. In the ‘21=7x3’ example, there is a ‘product of’ relation which does not hold for ‘being a brother is to be a male sibling’ example. For every case, we must find a different relation. Besides, he does not clearly explain what it means to say that analysis points out a relation between concepts. One can also interpret it as containing two synonymous parts which are ‘b’ and ‘m+s’ because the relation is between ‘b’ and ‘m+s’ rather than ‘b’, ‘m’, ‘s’. And it leads us again to the paradox. So, we have to consider another solution.

3. SUGGESTION:

My suggestion depends on some distinctions. Now I will try to explain these distinctions in order to present my suggestion clearly.

3.1. My first suggestion to the paradox of analysis is that we should make a distinction between the old terms and new terms. The concepts, which we try to analyze, are old terms. It means that they are already used in language. We use and understand them. So, analyst must in a sense know the concept he is going to analyze. But he wants to make it explicit by making a definition or explaining it in terms of other concepts.

Furthermore, when we ask ‘What is X?’ what is it that we are looking for when we ask such questions? In other words, what it means to analyze a concept? It seems as if we are trying to make a definition of it. Can we give a definition of a concept that we do not know?

Now, it seems we should add a third condition, which is:

3. An analyst must in a sense know the concept of which he is making an analysis.

3.2. We should distinguish the position of the analyst from the position of the others. So, analysis cannot be informative for the analyst. Even if X and Y have the same meaning, an analysis can be informative for the ones who do not know the meaning of X (the concept that is being analyzed)

Take for instance the following example:

Unicorn is a horse with horn.

Although the concepts of ‘unicorn’ and ‘horse with horn’ have the same meaning, this sentence is informative to the people who do not know the meaning of unicorn. We can say that analysis is informative to the others rather than the analyst himself. At first sight, it seems to solve our problem but indeed it does not. An analyst does not make an analysis of a concept merely in order to give information to other people. He does it because he wants to learn something about the concept or make a definition of it. So, an analysis must also be informative to the analyst. An analysis must be investigated from the analyst’s point of view. 

Now, things seem to be getting more complicated. The question, which must be considered, is the following: 

‘How can an analysis of a concept be informative to the analyst who already know the concept?’ We should deal with that question. In the rest of the paper, I will try to give an account how an analysis of a concept can give information while the concept is in a sense known. 

3.3. My third distinction is between two kinds of knowledge. One is in the sense of knowing something and not being aware of the knowledge. It is a tacit knowledge. This kind of knowledge is acquired by experience. One gradually comes to know something by observing it and trying himself. The other is in the sense of knowing and being aware of the knowledge. My suggestion is that knowing something should be taken in the first sense. 

For instance, a little child learns to speak language without knowing its syntax at a very early age. If you ask him something about the rules of language he could not give an answer. Not being able to give an answer does not mean that he does not know the language. He uses all the rules correctly. There is a tacit knowledge here. He knows the syntax tacitly. He is not aware of his knowledge but there is strong evidence that proves his knowledge. He gains this knowledge by observing how other people use the language and trying to use it himself. At first, he makes mistakes concerning the rules of language. Then, he gains the ability to use the rules of language correctly. This distinction between two kinds of knowledge can also be supported by a learning type, which is studied in psychology. Psychologists talk about learning through experience. We learn some skills through experience. In the beginning, we are not able to perform a skill, but then step by step we come to a position to perform it. At first tries we fail, then gradually our failures decreases and we come to perform it in excellence. But even after we come to perform it, we do not be aware of our knowledge. For example, I know how to swim or how to ride bike but when I am asked I cannot be in a position to explain it. It is a tacit knowledge. When I think for a while upon my actions my tacit knowledge becomes apparent. I can explain how to swim or ride and I become conscious of it. 

Besides, psychoanalysts claim that there is a kind of knowledge, which is hidden in the level subconscious. Normally, we are not aware of it. But with therapy it comes to the level of conscious and we become aware of it. The thing we already know but not aware of becomes the object of awareness. 

Similarly, we can apply the same distinction to the knowledge of the concepts and say that we know some concepts tacitly. When it comes to the knowledge of the concepts, tacit knowledge is acquired through use. For instance, we learn the concept of justice by observing how it is used in different contexts. At first one may use it faulty but then gradually he starts to use it correctly. It means that one knows the content of the concept without being aware of. Now, we should revise our third condition and say:

(3’) the analyst tacitly knows the concept he is analyzing ( we only add ‘tacitly’)

3.4. Now, I will try to explain how an analysis of a concept can be informative to the analyst who tacitly knows the concept that is being analyzed with reference to a fourth distinction. 

‘Informativeness’ can be taken in two different senses: 

(1) To give a totally new knowledge

(2) To make explicit what is tacitly known

If we take informativeness in the first sense, then analysis must give us knowledge that is not contained in X. In order those to give information X and Y must have different senses. That is something we do not want. So, we are not looking for the first kind of informativeness. We are looking for the second kind of informativeness in the analysis. We want an analysis to make apparent what is tacitly known by us. So, it needs a kind of self-reflection. Through thinking all the usages of the concept, which I am analyzing, in different contexts; I let my tacit knowledge to be apparent. That is how the analysis takes place. Since some concepts are more complicated than the others, they need more time and sophisticated self-reflection process. 

If we turn back to our original example ‘to be a brother is to be a male sibling’, we can say that the concept of ‘being a brother’ is learned through use. And we use it without thinking the concepts of ‘being a male’ and ‘being a sibling’. We understand the concept of  ‘being a brother’ without reference to these two concepts. Since ‘being a brother’ is a simpler concept, we analyze it in a few seconds. But when it comes to concepts of ‘justice’, ‘virtue’, ‘knowledge’, ‘good’; it requires more time. 

We should also add that not all concepts could be analyzed in terms of other concepts. There are some simple concepts can be analyzed in terms of other concepts. They can be called as basic concepts. And they constitute the foundation of our knowledge of concepts.

Let us consider our example more and check if our solution works. If we symbolize an analysis statement as such: ‘X is Y’ by substituting X with Y we arrive at ‘X is X’. We can give an account how ‘X is Y’ is informative while X and Y have the same sense using our theory as we have showed.

There is one other feature of the paradox that must be dealt with. It emerges when analysis statements are placed in to a ‘… that’ context. We can symbolize it as the following: 

(1) S knows that ‘X is Y’

(2) S knows that ‘X is X’

Before the analysis, at first (2) seems true whereas (1) seems false. If X and Y have the same meaning, then  (1) and (2) cannot have different truth values. This is the problem, which must be handled. According to our theory (1) also becomes true since S tacitly knows ‘X is Y’ before the analysis. So, the problem seems to be resolved. But when we change the sentences and say: 

(3) S tacitly knows that ‘X is Y’

(4) S tacitly knows that ‘X is X’

In this case, (4) becomes false whereas (3) is true and the paradox emerges again.

Consequently, we have suggested that an analyst tacitly knows the concept he is analyzing and an analysis is intended to make this tacit knowledge apparent. It helped us to explain how an analysis could be informative. But it still remained unsolved the problem which occurs in ‘ … that’ contexts. Applying to Frege’s distinction between direct and indirect senses may solve this problem. Indeed, there are some philosophers who have attempted to do that. Although they have been quit successful, there are still some problems in this solution. But we should take their solution into consideration and try to detach its problems.
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